RN "7 '0I0 R0 YR L7102

How will you establish it; like Rabi Eliezer - 219X 93172 1% 9% IRM2

Overview

The &3 attempted to resolve the query whether 721Y 701K TV or AW PRIV,
from a Xn>>72 which states that a father can sell his widowed minor daughter as an
72K to a 7173 172, If we assume 7w PO1R 790 we can understand that she was an
mnoR from 7> and even though MWK AN MADW? N2 DX 2 Q7R X, however
since the father was not w7pn her (for 1n°1 PYWI7PY IR? NMINWRIT Nwn) therefore the
T is not the MW X which prevents selling, but if 72 PXW°1 77, how can he sell
her, since MW°R IR MAdDWH N2 DR 1M O7X PR. The XMa asks according to °"217
who maintains (even according to 7717 "2 %01 M) that 1N PYTRY MNWRIT MR,
how can he sell her for since the father was w7pn her (with the MW7 nvn) he is
selling MW R X Mnow. The R nx answered that °"237 will establish the &n>12
according to &"7 who maintains that (even though mnsw AR MAdW? 51 PR, but)
MWYOR IR NMNow? 731?3.1

Previously” there was a dispute between *"w2 and Moo as to the respective views
of X" ¥"1. According to >"w1 it is ¥"7 who maintains MY R MR NOWH 0M PR,
but MndOW IR MNOW? 751, while X" maintains the opposite that mMnows 5m PR
mnow InR, but MW R X Mnow? 75%. However '01n maintains the exact opposite
that Y"1 maintains NIIOYW MR NIOWY 0N X, but MWR MR nnaws 1om, while X"
maintains MY R IR NINOW 7912 7°X but MAOW X NINOWH 1911,
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»''w9 explained; but until now the X713 was seeking to establish the Xn>72 not
like &' for he is snnw.

mooIn responds to the anticipated question:6

' The xn™92 will be discussing a regular case of 1"w17T°p without 7. It is then understood that if the Xn»™1a is
according to X", there is no proof at all from this X072 whether 7w 1"017°R T or AW PR, since the Xn11 is
not discussing 7.

2 See "27 "7 7170 "7 'O 2,7,

SRS B

* The question is how did the X7» initially attempt to bring proof from this Xn™ 2 that 7ww POITR T (see
‘Overview’), when we can establish this X092 according to X", so there is no proof (see footnote # 1).

5 smmw either means he was excommunicated (placed in a Xn»w or 07m), or it means he was from the school of n°a
*xnw. In either case the 175777 would not be like X", therefore we prefer not to establish the &n>12 like X".

% According to MmpoIN (see ‘Overview) initially we assumed the Xn»92 is according to X" who maintains (according
to '01) that MW R R MIdBW? 151 TR, and according to >"217 we will have to say that the Xn*12 is according to ¥
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According to the explanation of the n''s, whose text reads here, ‘how do we

establish the &n>72; like »''9’ who maintains MR AR NMOWS 731 (not like X") -
= TYION 299 MMIPIND 91110 RNYN TYT 990 7298

It will be necessary to say that until now we were seeking to establish the

Xn>12 like RX''9 (who is a *nnw) and resolve that 7w POYPR TY° -
- MYIN INN MNOYY RY AN S9INRT 75IN3 319959 "NPyny 2394 19297 0N

Because the 3129 who argue with @''% agree with X"2 for they say, ‘but not for

NIWSR MR NIER -
:NOY NN MNaWy XY SR 1Y 9P01Y RIX T1Y 1IN 597 533 NNV 529

And ®''% maintains that as well (that NM°X IR MINOWH 0w PX), just that w"
also adds, ‘but you cannot sell nIrow R MDY’ (to which X" does not agree).

Summary
It is proper to establish the Xn>72 according to X" (even though X7 *NWT) since

he is supported by (many) other 2>Xin.

Thinking it over
Does "1 agree exclusively with X"9 or does he also agree (somewhat) with "9

(according to "wA and NvoIN)?

(who maintains NW>X X MNow> 1511). The question is why originally did we establish the Xn>»2 like X" (who is a
"mnw) instead of establishing it like ¥"7 and we would not resolve whether 21 170177 W or W PRIV

" See ‘Overview’; according to the n"1 the X07%) here must be ¥"13 ,7% P11 *Rnx2.

¥ The xn™12 on X,7 states, MR MK MDY X2 22K MIADW R NMWR? TIW1 MADWS AN MW'K? 102 DX D7 197 X107
MDY MR NINBYY N2 DX 01N QTR TR T2 MR MR MAdYwY N2 DX 191 OIR PRY W2 MR Nvnw .

% Therefore since the w"37 1127 and "9 agree (with X"7) that MWK nX MnOW? 15m PR, therefore the Xy was
comfortable establishing the Xn»72 according to X"7 (even though X7 "mnwT).

10 This (additional) ruling of w" that Mnow R NIMOWY 12 PR is irrelevant to our discussion of the Xn>>93, for we
are not dealing with MndY IR NINAW, only with MWR IR NNdOW.
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